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(1) Find the centroid X (8%) and the moment of inertia [, (12%) for of

the spandrel of nth degree (f(x) = %2, n > 0) as shown in the
Figure 1.

h
Figure 1 ’

(2) A fixed-end beam AB supports a uniform load of intensity g acting
over part of the span. Determine the reactions of this beam (see
Figure 2). (32%, 8% for each reaction)

Figure 2 ]

(3) A rigid bar AB of a length L is-hinged to a support 4 and supported by
two vertical wires attached at points C and D (see Figure 3). Both
wires have the same cross-sectional area S and are made of the same
material (modulus E). Determine the tensile stresses o, (8%) and o)
(8%) in the wires due to the load P. Also find the downward
displacement 6y (8%) at end B of the bar.

Figure 3

(4) Draw the shear force diagram (12%) and bending moment diagram
(12%) for this beam (see Figure 4).

: gp= 1750 N/m
P=350N|




